EARAROBEEIERT — 2 N— IBISH —F

20185F9A11H (K) 7EIIIIG2H

Gl > %—f% C2mEA

‘ [Riz] & ‘ [REBB] — | & (&) 15000 &

[A~&£] 1 7% :1,000,000  ~ 23 :380,000 37 :250,000 "

4 7% 150,000 F 5 3& 120,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 D s 4 | SEHEK 1:38.7 2-2-2-1 | 41.0| — 1 455 | 1EBETERE (J11I&)
1 4| 7T 54.0 =) (+4) |TREEE
NIV T A—Hh— B AXHTLAR TREA IS
g 4t 6 | ATHER 1:39.7 2-3-3-4 |41.8| — 2 469 | REREE (1111&)
2 6 FU—L~vF 54.0 (5) (4a) |LEFEF
R:d—IWRT7Ua—b B:RU—LLA K- 2B
RS, — it 5 | WEY 1:40.0 5-5-5-3 | 41.9| — 4 42 | BRAB— (&)
31| Ty b 54.0 A 1/2) 1) | (B J P NEH
R:AA 3Ly F:aa~) BEHS
= 47 | HEARE 1:40.0 6-6-7-6 |41.9| — 5 478 | EEEEL (AA1S)
48|11 Y27/ NYT 0 (F75%) (o |XBE_
R:TH+—FT4FAF—Y%> B:14/1) KIFE
. . 4 4 | HEfE— 1:40.1 8-7-4-7 |42.2| — 7 490 | EHEE— (11&)
5|8[10| IAFLT T 6.0 (172) o) | () J PN
LY—FHIIY> B FLPRFIyvtLX B 77—L4
o 1HEFHE :40. S5 . — KNS (afg)
6l5/5| vy 72y v b i 4 ! 1(74(1):>2 4-4-5-5 | 42.3 3 ;1_7;) e
L:J7—3IUT7> BANLELRITETZR B =73
= ; 4 5 | MEX 1:40.3 7-8-8-8 |41.8| — 11 423 | AREEHE (A
TEl3| 717 -7RU7 56.0 (172) Clo) | @8 ArzmImE
R:FA—TZAHA B A XL ISHISHT 77— LI
g s HEEE : -11-10- — EHBE (fafE)
8 R ET P 5 e 1(;(3:) 11-11-10-9 | 41.3 9 zzgs)a P
L7 RIAVYL—> BiZa—FvT82-2 H—L— - JvX> - T7—LARS
IS5 = o4 | RER 1:40.6 1-1-1-2 [43.1| — 6 475 | BRAE— (k)
9|78 TIVIT T 56.0E (1 1/2) (-10) '_Elﬁl) J P N#HE
L:a=/x¥LLy b B:T—FT1— i ¢ e ]
S 44 | HEEH 1:41.2 9-10-10-10 | 42.0 | — 8 430 | WUREIE (fad)
EE 2| NIATTY =l 5.0 @ G | ) EEEE
RiXL AN BiATavFAF— BEXEtt RUMI 77 —4
= S0y A B o6 | EEEER 1:42.0 9-9-9-10 |43.1| — 10 | 462 | ARE (1)
1Ml7lg|7aRIT—I 54.0 ) Ly | HLEE
L FAIRFYR BT RKUHB LT MRARM IUAL T4
® I —F—@EBIERL
13=7r= 8,(4,6),5,1,11,3,10,(2,9),7
2= = 8,4,6,5,1,11,10,3,9,2,7
30—7+— 8,4,6,10,(1,5),11,3,9,(2,7)
43—7+— |4,8,1,6,5,11,10,3,7,(2,9)
[ N3
BB 4 300H 714K 4-6 190H % E 4-6 550 3EHE 1-4-6 1,180H
8 B 4 130H4 1-4 490M B 4-6 1,060 K31 4-6-1 4,130
6 130M 1-6 630F B E 4-6 450
1 200M B H 4-6 1,100M

ABICOVWTRDTEEERROODE. TR LIV,




